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Direction (1-20): In this question, two columns I and II and three sentences are given, 
which are divided into two parts. Column I (A, B and C) consists of first half of each 
sentence and Column II (D, E and F) consists of second half of each sentence. Match 
column I with column II, so that the sentences formed are both meaningful and 
grammatically correct. Choose the option as your answer. 
 
Q1.  

I II 
A. International airlines has announced D. he lived an exciting and inspiring life. 
B. The website is dedicated to promoting E. an increase in flight frequencies to 

Europe. 
C. The judge is not a well-known figure 
today 

F. environmental awareness among young 
people. 

A. B-E and C-F    B. A-E, B-F and C-D  
C. A-F and C-D    D. B-F  
E. A-E and C-F  
 
Q2.  

I II 
A. Smaller dogs tend to live significantly 
longer 

D. attain the Sustainable Development 
Goals. 

B. The new shopping section includes 
items that are 

E. hand-curated by people which work at 
Pinterest. 

C. Investing in adolescent health is crucial 
to 

F. as they age more slowly than bigger 
dogs. 

A. B-E and C-F    B. A-E, B-F and C-D  
C. A-F and C-D    D. B-F  
E. A-E and C-F  
 
Q3.  

I II 
A. Homelessness and poverty increase the D. tops the list of long-term financial goals. 
B. The dedicated team is making a positive 
difference 

E. vulnerability of children to sexual 
predators. 

C. In India, child's higher education and 
marriage 

F. to the wellbeing of its local 
communities. 

A. B-E and C-F    B. A-E, B-F and C-D  
C. A-F and C-D    D. B-F  
E. A-E and C-F  
 
Q4.  

I II 
A. Investors must have a good 
understanding 

D. increases the risk of developing heart 
disease. 
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B. Long-term exposure to air pollution 
may 

E. of how their returns are taxed. 

C. After the marine animals, the scourge of 
plastic 

F. waste is now affecting animals on land. 

A. B-E and C-F    B. A-E, B-F and C-D  
C. A-F and C-D    D. B-F  
E. A-E and C-F 
 
Q5.  

I II 
A. Stubble burning is just one of the D. factor responsible for pollution. 
B. The rate of increase in global 
temperatures can 

E. make some places virtually unhabitable. 

C. Seshan waged a legal war against the F. politicians flouting the model code of 
conduct. 

A. B-E and C-F    B. A-E, B-F and C-D  
C. A-F and C-D    D. B-F  
E. A-E and C-F  
 
Q6.  

I II 
A. The world has the scientific knowledge 
and 

D. hindering the UK’s electric vehicle 
rollout. 

B. There is a colossal disconnected 
between 

E. the government’s policy and the 
regulator’s policy. 

C. The energy regulator has been accused 
of 

F. the technical means to limit global 
warming. 

A. B-E and C-F    B. A-E, B-F and C-D  
C. A-F and C-D    D. B-F  
E. A-E and C-F  
 
Q7.  

I II 
A. Sometimes it’s hard to know if you’re 
being 

D. take on this onerous duty. 

B. Anyone who is looked after a E. taken for granted in your relationship. 
C. You are under no obligation to F. toddler knows it’s no easy task. 

A. B-E and C-F    B. A-E, B-F and C-D  
C. A-F and C-D    D. B-F  
E. A-E and C-D 
 
Q8.  

I II 
A. Exposure to higher levels of fine air 
pollutants 

D. departments when it comes to 
technology. 
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B. It’s frustrating to have to dig around for E. may causes decline in memory. 
C. There can be a disconnect among HR 
and IT 

F. skills which are usually found naturally 
in others. 

A. B-E and C-F    B. A-E, B-F and C-D  
C. A-F and C-D    D. B-F  
E. A-E and C-F  
 
Q9.  

I II 
A. Structural heart diseases can result in D. were not superior than the 

Neanderthals. 
B. The first modern humans to reach 
Europe 

E. short of breath, loss of energy, and 
death. 

C. According to a research, Otters play a 
key 

F. role in managing carbon dioxide levels. 

A. C-F      B. A-E  
C. A-F and C-D    D. B-D  
E. A-E and C-F  
 
Q10.  

I II 
A. Darwin concluded that the animals’ 
potential 

D. take more measures to avoid detection. 

B. Sonic booms generates huge amounts of 
energy 

E. which sometimes sound like an 
explosion. 

C. The new law could drive offenders to F. to change local flora was considerable. 
A. B-E and C-F    B. A-E, B-F and C-D  
C. A-F and C-D    D. B-F  
E. A-E and C-F  
 
Q11.  

I II 
A. The Pinterest Shop is currently home to D. issue of allowing off-loading of pledge 

shares. 
B. The escalation of aggressive tactics in 
the protests have 

E. hundreds of product pins from 17 
companies. 

C. The order has put the banks in a 
dilemma on the 

F. alienated many who wish to broker 
peace. 

A. B-E and C-F    B. A-E and C-D  
C. A-F and C-D   D. B-F  
E. A-E and C-F  
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Q12.  
I II 
A. Know when to look at options and 
diversify 

D. running a bar in hostile operating 
conditions. 

B. The audit revealed the areas of gross 
incompetence 

E. opportunities can be critical to business. 

C. It is better to switch to other businesses 
than 

F. and the mismanagement of the 
business. 

A. B-F and C-D    B. A-E, B-F and C-D  
C. A-F and C-D    D. B-F  
E. A-E and C-F  
 
Q13.  

I II 
A. The country’s supervisory control 
systems 

D. incompetence in their handling of the 
dispute. 

B. A growing part of the charity's work is 
providing 

E. business skills to developing 
economies. 

C. Management have demonstrated 
almost unbelievable 

F. are on the verge of getting 
compromised. 

A. B-D      B. A-E and C-D  
C. A-F     D. C-E  
E. B-D and C-F  
 
Q14.  

I II 
A. After the merger, IB Housing will gain 
access 

D. example of the hostile environment that 
academics is facing. 

B. The refusal to grant settlement is only 
one 

E. parts, could spur the massive illegal 
wildlife trade. 

C. The WHO’s acknowledgment of 
medicines, which use animal 

F. to LV Bank’s branch network. 

A. B-E and C-F    B. A-E, B-F and C-D  
C. A-F and C-E    D. B-F  
E. A-E and C-F  
 
Q15.  

I II 
A. Over billions of years, life has evolved to D. wrangle with the authorities over pay. 
B. A lot of trees were blown E. take on much different forms on our 

planet. 
C. The armed forces have been engaged in 
a bitter 

F. over in the recent storms. 

A. C-D     B. A-E 
C. A-F and C-E    D. B-F  
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E. B-E and C-F 
 
Q16.  

I II 
A. Even if it feels like the hostility is D. she was a great entertainer. 
B. There was a storm of protest E. directed towards you, chances are it's 

not. 
C. Despite her limitations as an actress F. when the new tax was announced. 

A. B-E and C-F    B. A-E, B-F and C-D  
C. A-F and C-D    D. B-F  
E. A-E and C-F  
 
Q17.  

I II 
A. We have been wrangling with the 
management 

D. for weeks off parking spaces for 
employees. 

B. The whole subject of war decorations 
will no 

E. certain type of artificial sweetener and 
cancer. 

C. Some studies have suggested a link 
between 

F. doubt receive consideration at a later 
stage. 

A. B-E and C-F    B. A-E, B-F and C-D  
C. A-F and C-D    D. B-F  
E. A-E and C-F  
 
Q18.  

I II 
A. Hostile environments are the best ones, 
when it 

D. defendant had feigned the injury. 

B. He stormed out of the house E. when it comes to moulding the mindset 
of a soccer player. 

C. The prosecution claimed that the F. slamming the door as he went. 
A. B-E and C-F    B. A-E, B-F and C-D  
C. A-F and C-D    D. B-F  
E. A-E and C-F 
 
Q19.  

I II 
A. His skill lies in his ability to 
communicate 

D. limitation of employers' authority. 

B. One of the aims of the union were the E. quite complex ideas very simply. 
C. During the 17th century, the Puritans 
destroyed 

F. many decorations in English churches. 

A. B-E and C-F    B. A-E, B-F and C-D  
C. A-F and C-D    D. B-F  
E. A-E and C-F  
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Q20.  

I II 
A. The new rent regulations raised a storm D. apparitions attempting to enter the 

town. 
B. The joint venture ended in a legal E. of criticism from both renters and 

landlords. 
C. The symbol protected villagers from 
evil spirits and 

F. wrangle between the two companies. 

A. B-E and C-F     B. A-E, B-F and C-D  
C. A-F and C-D     D. B-F  
E. A-E and C-F  
 
To check the answers, CLICK HERE! 
https://www.youtube.com/watch?v=NTP5s_qAeRk&feature=youtu.be 
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